3) When A <0,Aais, |a|like - A time big and opposite to the same vector
a’s direction.
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That means -a is a vector that parallel, same proportional and opposite to a.

e Vector Additive
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When we have to addltlon 2ve orNQg' picture (1), firstly we

numbered those\lrﬁ a,gBo"
? v@\l \hose 2 vec@@g%ure (2) (direction of arrows should flow

out any opposite turnings).

After we can drow a line from O to B and then OB vector equal to addition of
a and b.

Also we write this,

Ifﬁ=g+g,{ﬁ=gandﬁzg}

OB =0A+AB

This is the Triangle law of vector addictive.
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